Radius [pc]

ARP 2 0.1 1 10 100
-IIIIIII 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII |
Dy, =28600 pc L A ;
Mass from HST photometry P_:,D 6 L N
w TO T i
M,=(3.71+0.60)-10* M, i ]
-8 —
M/L=4.38+1.11 —_ i
g 02 ]
R,=18.91 pc, Re=9.3¢ pc & B _____ __ N
pq(_ K ]
MF Slope=0.03 ‘go _02 E ]
— :I IIIIIII 1 IIIIIIII 1 IIIIIIII 1 IIIIIIII:
1 10 100 100

_ _ Radius [arcsec]
O 4 ILRLRLL I IIIIIIII I IIIIIIII LI Q 4 UL I IIIIIIII I IIIIIIII LI
LIN: - 5
g9F ER: E
= F 1 = _F { .
. R E .2 } =
o T \: o r :
S 1 PM 4 T 1ERV E
T 0 ErHH— ] S 0 Frh— '\
04 F | | 4 Poafp | I
Fo02F 1.8 o2 .
l, OF-———-—-———————- 1, 0fF--------—-—— -
>-0.2 | 4> -02F 3
—0‘4 :_IIIIIII 1 IIIIIIII 11 IIIIIII 11 II—- —0‘4 :_IIIIIII 11 IIIIIII 1 IIIIIIII 11 II—_

1 10 100 1 10 100

Radius [arcsec] Radius [arcsec]



